= A [
N =] HX%
== N\ 7 2\4:—2
BB R
BHZ=E ME+-—A=+—HILFE
Rt EREH RABE HRE&ENE
Rx  BER B REES EXERE B EfiRfE ZREA RERE fit
AETT BETr A&Tr AETr AETrn A%Tr AETr BETn A%Tr AETn
(Hi@) (W)
R-EE=£-f-H 32,438 292,131 666 5,940 6,061 4,703 13 19,114 3249 564515
RANEERESR = = = = - - 3,146 - - 3,146
EiA% = = 193 = = = = = = 193
R ABERZ MG FE - - 193 - - - 3,146 - - 3,339
BRE2ZREN = = = 326 = - - (326) - -
iR RE 302 1,223 - - - - - - - 1,525
RERBRE = = = = = = = = (3249)  (3,249)
ERAA = = = = = = - 33,266 - 33,266
RERSRE = = = = = = - (3,259) - (3,259)
BEAHBRE = = = = = = = (9.822) 9,822 -
30 1223 - 326 - - - 19,859 6573 28,283
R-ZEE=F+-f=1-HER
“TEME-F-H 30,740 293,354 859 6,266 6,061 4,703 3359 238973 9822 59,137
RANEERRS = = = = = - 1277 - - 1277
ERAE = = 288 - - - - - - 288
AIABERZMHFE - - 288 - - - 1277 - - 1,565
BEEZEEN = = = 66 - - - (66) - -
fEERE 195 790 = = = = = = = 985
RERSBRE = = = = = = - (34)  (9.822)  (9,856)
AT = = = = = = - 72,400 - 72,400
RERBRE = = = = = = = (9,881) = (9,881)
195 790 - 66 - - - BM19  (9822) 53,648
RZEEMET-A=1-H 32,935 294,144 1,147 6,332 6,061 4,703 4636 301392 - 651350
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AR a AR
- N\ /4=
ExEHE

HE-STME+-A=+-BLFE

Rt EREH RABE HRE&ENE
Rx  RER B REES EXERE B EfiRfE ZREA RERE fit
AETT BETr A&Tr AETr AETrn A%Tr AETr BETn A%Tr AETn
(Hi@) (W)
RERER:
AR RKEAE 32,935 294,144 1,974 6,332 6,061 4,703 4636 327,930 - 678,715
AFEHLE = = (827) = = = - (26,538) - (27,365)
R-BEME+-A=t-H 32,935 294,144 1,147 6,332 6,061 4,703 4636 301392 - 651350
AR RKEAE 32,740 293,354 1,686 6,266 6,061 4,703 3359 266,750 9822 624,741
AEEG G % = = (827) - - - - Q1) - (28,604)
R-EE=F+-A=+-H 32,740 293,354 859 6,266 6,061 4,703 3359 238973 9822 59,137
B st :

(a) WRIZFEEE R B EARKFE ([HE] ) )ERERAFO) 1A B R R PT i i 8 2 5] 2 A &5 10 F 8 B 1E T BT 29 )R 7 % 15

(b) BN F G 6158 88,588,000 (= FEEF =4 : jF#8,588,000L) 2 BEFERRA B 42 B 82,527,000 (=

TE =4 F K2 527,000T) 2 B2
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